In the circuit shown below Ry = 17.5 kQ.

Assume that the op-amp is ideal.

Determine the value of Ry so that the magnitude of closed-loop gain, G=vg /vgis 7.
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Answer

R; =25kQ

In the circuit shown below R; = 10 kQ, Ry =8 kQ and R; =48 kQ

Assume that the op-amp 1s 1deal.

If vg1 = 0.8 Vpe and vgy =-0.5333 Vp determine the DC output voltage.

Answer

Vo= -0.64 VDC



In the circuit shown below R; = 6 kQ and Ry = 132 kQ.

Assume that the op-amp i1s ideal.

Determine the closed-loop gain, G=vg / vg .
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In the circuit shown below Ry = 14 kQ.

Assume that the op-amp is ideal.

Determine the value of Rj so that the closed-loop gain, G=vg / vg = 8.

Answer

R1=2k51



In the circuit shown below R; =12 kQ, Ry, =12 k2 and R; =72 kQ
Assume that the op-amp is ideal.

If vg; =-0.4667 Vpc and vgy = 0.2 Ve determine the DC output voltage.

R,
P |
R,
Vs o—"A\NVNV/
. v
U5y 0=——=AAN/ o
R,

Answer

Vo= 1.6 VDC
In the circuit shown below Ry = 7.5 kQ and Ry = 112.5 kQ.

Assume that the op-amp is ideal.

Determine the closed-loop gain, G=v / vs.
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Answer

G=-15



In the circuit shown below Ry = 48 kQ.

Assume that the op-amp is ideal.

Determine the value of Ry so that the closed-loop gain, G=vg /vg=>5.
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R;i=12kQ

In the circuit shown below R; =1 kQ and Ry =1 kQ.

Assume that the op-amp is ideal.

Determine the closed-loop gain, G=vg /vy .

Answer

G=2



In the circuit shown below R = 0.5 kQ.

Assume that the op-amp is ideal.

Determine the value of R so that the magnitude of closed-loop gain, G=vg /vgis 17.

v

Answer

R, =8.5kQ

In the circuit shown below Ry = 24 kQ.

Assume that the op-amp is 1deal.

Determine the value of R so that the magnitude of closed-loop gain, G =vq / vg is 24.

Answer

R1=1kﬂ
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